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מבנית:אינדוקציהב':חלק

:1שאלה

נגדיר:

type element =

| Z1

| Z2 ;;

type sequence =

| Empty

| Cons of element * sequence ;;

let rec len = function

| Empty -> 0

| Cons (_, tail) -> 1 + len tail ;;

let rec append x y =

match x with

| Empty -> y

| Cons (head, tail) -> Cons (head, append tail y) ;;

כי:הוכיחו

∀𝑥, 𝑦 ∈ 𝑠𝑒𝑞𝑢𝑒𝑛𝑐𝑒:  𝑙𝑒𝑛 𝑥 𝑎𝑝𝑝𝑒𝑛𝑑 𝑦( ) = 𝑙𝑒𝑛 𝑥( ) + 𝑙𝑒𝑛 𝑦( )

הרצה:דוגמת

(* EXAMPLE: *)

let seq1 = Cons(Z1, Cons(Z2, Empty));; (* Sequence: Z1 -> Z2 -> Empty *)

let seq2 = Cons(Z2, Cons(Z1, Empty));; (* Sequence: Z2 -> Z1 -> Empty *)

(* Concatenate the sequences *)

let combined_seq = append seq1 seq2;; (* Result: Z1 -> Z2 -> Z2 -> Z1 -> Empty *)

(* Calculate the lengths of the sequences *)

let len_seq1 = len seq1;; (* Expected length: 2 *)

let len_seq2 = len seq2;; (* Expected length: 2 *)

let len_combined_seq = len combined_seq;; (* Expected length: 4 *)



:3שאלה

פשוט:בינארילעץהגדרהנתונה

type 'a btree =

| Empty

| Node of 'a * 'a btree * 'a btree

הבאה:הפונקציהנתונהכן,כמו

let rec height = function

| Empty -> 0

| Node(_, left, right) -> 1 + max (height left) (height right)

מבנית:אינדוקציהבעזרתהוכיחו

ביןביותרהארוךהמסלולמאורךשווהאוגדולtשלהאורךכימתקייםbtreeמסוגtבינאריעץלכל
שלו.העליםלאחדהעץשורש



:4שאלה

נגדיר:

הבאות:הפונקציותאתנכתוב

let rec num_of_vars = fun exp -> match exp with

| Var(_) -> 1

| And(x,y) -> (num_of_vars x) + (num_of_vars y)

| Or (x,y) -> (num_of_vars x) + (num_of_vars y)

| Not(x) -> (num_of_vars x);;

let rec num_of_connectives = fun exp -> match exp with

| Var(_) -> 0

| And(x,y) -> (num_of_connectives x) + (num_of_connectives y) + 1

| Or(x,y) -> (num_of_connectives x) + (num_of_connectives y) + 1

| Not(x) -> (num_of_connectives x) + 1;;

מטיפוסexpביטוילכלנגדית:דוגמאבאמצעותהפריכואומבניתבאינדוקציההוכיחוא.

bool_expr:מתקיים

num_of_vars(exp) = num_of_connectives(exp) + 1

מטיפוסexpביטוילכלנגדית:דוגמאבאמצעותהפריכואומבניתבאינדוקציההוכיחוב.

bool_exprמופיעלאבוNot:מתקיים

num_of_vars(exp) = num_of_connectives(exp) + 1


